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OR(3121dT)

Explain with a neat diagram the working of
stelometer to measure fibre bundle strength.

T B Jusd AfF &I 9194 = WA
LAl 3 =T e 9% ger foF
D FRT o |

9. Find out the percentage mean deviation (P.M.D)
from the following readings of a textile sample-

40, 42, 44, 45, 48, 50, 46, 52

frr=ifea aest 4 ufaesa A9 Q=g
(fr.ond)) Frprel—
40, 42, 44, 45, 48, 50, 46, 52

OR(372Md)

The weight of a sample of cotton was found to be
120 grains. When heated at 100°C for two hours

the weight of the sample was reduced to 110 grains.

Find out the moisture regain and content.

afe fedl TR &1 ao9 120 =9 2| W9 S9@
100" 9. WR < &¢ W $Ha & d A &I

qol "edhR 110 =T 8 SITdr 8 | ST T4
R vd T doe< fHrard |
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Time : 3Hrs. Sem. IV -TE
Text Testing
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
7u—B & il uia gl @ SR <, UAD U BT 4 4 3B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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5.

Write down the various applications of
macromaire value.

ArshiHa] 91 & faffr=1 Suahn & ford |

OR(3721d)

Write a short note on the importance of fibre
length.

3T B o6l P HUsd UR Udh Gfvd Hle
ford |

Write a short note of Hysteresis effect. 4

e a9 W te Gferg Aie ford |
OR(372r1an)

What do you mean by oven dry weight ?
Describe it in short.

AT YH ao A AT FT FHSIA & ?
ey # quiq @ |
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(i)

(iii)

(iii)

(iv)

3 1628402

qiferer &1 a9e RAT 8ar 2—
(31 4%

(®) 4.4%

(&) 0.4%

(®) 1.4%

The stress-strain curve for cotton is slightly.
(a) Plain

(b) Concave

(c) Convex

(d) None of these

HU B TS 919 Bl 28—
(31) "Hda

(@) ®I>H

(|) HTHe

(¥) SWIdd &g 8l

After swelling the mature fibres become
like

(a) Worm

(b) Ribbon

(c) Rod

(d) Tape

P.T.O
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AISHIAAR T8 IF 2 ol BRI ST —
(e1) @y ware fafr wx

(@) uareia fafer wx

(@) e Eaa fafer ux

(]) drsar fafer wx

GROUPB

Answer all Five Questions.

9l ufg gl & SR o

2.

4x5 =20

Why different textile fibres have different regain ?
Sate the reason. 4

faftr= a9 &1 TH IMYT—&HaT AT
I Bl 8 ? BRI 9l |

OR(3721d)

Establish a relationship between moisture regain
and moisture content.

Tt R ud 9 dve< ¥ gy wenfud &V |
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(vi)

(vii)

(vii)

(viii)
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Jd @ <HaR &I Jierd & <dadr
fea®l Araa &1 49T B

(31) uRuaaar &1

(@) wers &1

() <418 BT

(<) dls1s @1

Which one is more commonly used Index
of fineness -

(a) Density

(b) Viscosity

(c) Linear density

(d) Gravity

Aerd &1 999 SareT yaferd svsa
3

(1) g9

() arsar

(A) YEs g9

(%) T

The irregularity for coarser fibres is -
(a) Low

(b) High

(c) Medium

(d) Same

P.T.O
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(xvi)

(xvii)

(xvii)
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®1 BT YyaR JIUdT 82—
(31) yared & w@EUa B
(@) yared & faeIg @t
(\) usred @ #ies &l
(%) u<ref @) Halkar &I

The template size of Quadrant balance
(@) 1o Yds
(b) b vds
() Lyds
(d) 5g vds

FAIG~T RIS A cHYGIC $I MHR BIdl
3

Which one is generally used to check the
correct reading tension-

(a) Skein Gange

(b) Scale Gange

(c) Top Comb

(d) Bottom Comb

N4090

x)

(xi)

(xi)

(xii)

7 1628402

1 299 §xTEX BlaT & —
@) 5 SfER @
@) 9 SR @
(@) 6 SfR @
(®) 10 SfRR @

The difference between each value and the
arithmetic mean is called as -

(a) Mean deviation

(b) Percentage Mean deviation

(c) Deviation

(d) Dispersion

gd® HH U4 G 9 & di=
P AN Pl Hed B—

(@1 #=1 fage=

(@) W1 fage= ufaea

(\) fager=

(?) faErmE

The characteristic representation of
population is called as -

(a) Simple

(b) Sample

(c) Bulk

(d) Unit

P.T.O
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10. What are the various systems of yarn-numbering ?

11.

Explain the working of a Quadrant balance. 6

grl &1 &1 MareH 3q ugad faf=
ggfadl a1 27 dargve dris) @
HRI—BITd B AT B |

OR(37271dT)
Explain the determination of fibre length

distribution pattern and its effective length by baer
sorter method.

dIR wIER fafdyr grr e @) e @ faavor
Td 3D YATA o EIg B ATET I |

Describe the working of wet and dry bulb
hygrometer. 6

Ml ¢d Yeh ded eZIIHICR BT 9uiq & |

OR(3721d)

Explain the various factors which affect the fibre
strength test results.

Al B A Sifd &l g9rfdd A qrel
faftr=1 eR®I @ AT DY |

skeskok
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10. What are the various systems of yarn-numbering ?

11.

Explain the working of a Quadrant balance. 6

grl &1 §E&dT MareH 3q ugad faflr=
ggfadl dI1 2?7 dargve dris] @
HRI—BITd B AT B |

OR(372r1dT)
Explain the determination of fibre length

distribution pattern and its effective length by baer
sorter method.

IR MR fafey gRT X9 B d=rE B faavor
U4 3P YUl THTS B AT B |

Describe the working of wet and dry bulb
hygrometer. 6

el ¢d b ded SI5UTHIEY &1 9viF o |

OR(3721d)

Explain the various factors which affect the fibre
strength test results.

T B AL Sifd &l g9fdd dIA qrel
faftr=1 eR®I @ AT DY |
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